Calculate the grams present in:

1) 0.200 moles of H2S

2) 0.100 moles of KI

3) 1.500 moles of KClO

4) 0.750 moles of NaOH

5) 3.40 x 10¯5 moles of Na2CO3
Calculate the moles present in:

6) 2.00 grams of H2O

7) 75.57 grams of KBr

8) 100. grams of KClO4
9) 8.76 grams of NaOH

10) 0.750 grams of Na2CO3
11) Here's the equation to use for all three problems:

2 H2 + O2 ---> 2 H2O

a) How many moles of H2O are produced when 5.00 moles of oxygen are used?

b) If 3.00 moles of H2O are produced, how many moles of oxygen must be consumed?

c) How many moles of hydrogen gas must be used, given the data in problem two?

d) Suppose 4.00 grams of H2 were used? How many grams of water would be produced?

5) Here's the equation to use for all three problems:

2 H2 + O2 ---> 2 H2O

a) How many grams of H2O are produced when 2.50 moles of oxygen are used?

b) If 3.00 moles of H2O are produced, how many grams of oxygen must be consumed?

c) How many grams of hydrogen gas must be used, given the data in problem two?

6) Given the following equation: Na2O + H2O ---> 2 NaOH

How many grams of NaOH is produced from 1.20 x 102 grams of Na2O? How many grams of Na2O are required to produce 1.60 x 102 grams of NaOH?

7) Given the following equation: 8 Fe + S8 ---> 8 FeS

What mass of iron is needed to react with 16.0 grams of sulfur? How many grams of FeS are produced?

8) Limiting Reactant

15.00 g aluminum sulfide and 10.00 g water react until the limiting reagent is used up. Here is the balanced equation for the reaction: 

Al2S3 + 6 H2O -----------> 2Al(OH)3 + 3 H2S 

(A) Which is the limiting reagent?


(B) What is the maximum mass of H2S which can be formed from these reagents?

9) Consider the reaction: 

2 Al + 3 I2 ------> 2 AlI3 

Determine the limiting reagent and the theoretical yield of the product if one starts with: 

a) 1.20 mol Al and 2.40 mol iodine.


b) 1.20 g Al and 2.40 g iodine

